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    Section 4.3 Solutions
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12. Let X be the number of plants in T acres, then 
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18. 
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b. Yes. We would expect such a result to occur by chance just 5 times in 10,000 samples!

c. Yes. See part (b) for an explanation.

d. 
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e. No. We would expect such a result to occur by chance in about one-third of all samples.

f. No. See part (e) for an explanation.

20. Let B1 represent the background and also the number of emissions due to the background for the first sample, B2, S2 represent the background and source and also the number of emissions due to the background and source for the second sample, and T2 represent both and also the number of emissions due to the both for the second sample. Then T2 = B2 + S2. The samples are collected separately and therefore are independent, which means B1 and T2 are independent random variables.
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d. Using the estimated rates above: under scenario (1), 
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; while under scenario (2), 
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e. We wish to find an n such that 
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, which is not possible for n which must be a positive integer!
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